Full Length Research Paper

A stochastic knapsack problem with additive model of contagious distribution for the weight

Akpan, N. P.¹*, Etuk, E. H.² and Essi, I. D.²

¹Department of Mathematics and Statistics, University of Port Harcourt, Rivers State, Nigeria. ²Department of Mathematics/Computer Science, Rivers State University of Science and Technology, Port Harcourt, Rivers State, Nigeria.

Accepted 19 April, 2012

In this paper, our concern is on modelling a stochastic knapsack problem with the mixture of two known distributions (Gamma and Exponential) using additive form. The behavioural pattern of this mixed distribution is presented graphically and properly examined with different values of the parameters. It was shown that the new distribution is a proper probability density function (PDF) and its mean and variance were obtained, respectively. Also, an algebraic model was proposed for a stochastic knapsack problem with mixed (additive form) distributional weight.

Key words: Knapsack problem, contageous distribution, gamma distribution, exponential distribution.

INTRODUCTION

Literature has shown that more work has been done in the static aspect of the knapsack problem than the dynamic. Different authors have come up with different illustrations as a way of defining the knapsack problem; Martello and Toth (1990) illustrated that "the knapsack problem" can be likened to a hitch-hiker who intends to fill his knapsack by selecting from among various possible objects which will give him a maximum comfort. They formulated the problem mathematically by numbering the objects from 1 to *n* and introducing a vector of binary variable x_i (j = 1, 2, ..., n). Where

$$x_{j} = \begin{cases} 1 & if \ jth \ itemisselec_{i} \end{cases}, \text{ then if } p_{j} \text{ is a} \\ 0 & otherwise \end{cases}$$

measure of the comfort given by object j, w_j its size and c the size of the knapsack, the problem will now be

$$Maximize \sum_{j=1}^{n} p_j x_j \tag{1}$$

Subject to $\sum_{j=1}^{n} w_i x_i \leq c$ (2)

Whereas, Kosuch and Lisser (2008) in their own way

defined knapsack problem as a combinatorial problem: each item is modelled by a binary decision variable $x \in Q_1$ with x = 1 if the item is chosen and 0 otherwise; He added that the knapsack problem is generally linear, that is both the objective function and the constraints are linear.

However, in this work, we are interested in a situation where the items we are selecting in order to maximized the profit of a firm comes from two distinct population, and we employ additive model of contagious distribution to address the problem. Our reason for the contagious distribution is that, we assume the random variable xtakes up distinct values, $x_1, x_2, ..., x_n$ with positive probabilities and also take up (assume) all values in an interval; say $a \le x \le b$. The probability distribution that will be obtained here will be as the result of combination of both discrete and continuous distribution (Meyer, 1965).

LITERATURE REVIEW

Kosuch and Lisser (2009) worked on a two-stage stochastic knapsack problem with probabilistic constraint. They assumed the item weight to be independently distributed following normal distribution. They showed how to obtain upper bounds on the overall problem or on sub problems and also computed high probable lower bounds on the overall problem given a first

^{*}Corresponding author. E-mail: nsigreat@yahoo.com.

stage decision.

Claro and Sousa (2010) in their paper `A multiobjective for a mean-risk static stochastic knapsack problems` addressed two major challenges presented by stochastic discrete optimization problems: the multiobjective nature of the problems, once risk aversion is incorporated, and the frequent difficulties in computing exactly, or even approximately the objective function. They also proposed the use of multiobjective metaheuristics to deal with these difficulties, and apply multiobjective meta-heuristic to both exact and sample approximation versions of a mean-risk static stochastic knapsack problem.

Other researchers have provided alternative versions of the static stochastic knapsack problem. For instance, when considering problems with independent normally distributed rewards, Steinberg and Parks (1979) proposed a preference order dynamic programming algorithm, an approach further elaborated by Sniedovich (1980, 1981). Henig (1990) proposed a hybridization of dynamic programming with a search procedure, while Morton and Wood (1998) developed a Monte Carlo approximation for problem with general distributions on the random rewards. Kleywegt et al. (2002) studied a Monte Carlo simulation based approach that repeatedly solves sample average optimization problems, in which the expected value function was approximated by a sample average function, obtained by generation of a random sample.

Dizdar et al. (2011) worked on revenue maximization in the dynamic and stochastic knapsack problem where a given capacity needs to be allocated by a given deadline to sequentially arriving agents. They also derived two sets of additional conditions on the joint distribution of values and weights under which the revenues maximization policy for the case with observable weights is implementable, and thus optimal for the case with twodimensional private information. Fujimoto and Yamada (2006) in their work on exact algorithm for the knapsacksharing problem items developed an algorithm to solve this problem to optimality, and through a series of computational experiments. thev evaluate the performance of the developed algorithm.

Cohn and Barnhart (1998) contributed to the building of a toolkit for tackling complex planning problems in a robust manner, by focusing on solving the stochastic knapsack problem with random weights (SKPRW). They also established several properties useful in solving it with a number of examples.

Han and Makino (2009) addressed the online minimization knapsack problem. They studied the removable model, where it was allowed to remove old items from the knapsack in order to accept a new item. In the course of their work, they were able to obtain the following results:

1) Derivation of a lower bound 2 for deterministic algorithms for the problem,

2) Proposition of a 2e - competitive randomized algorithm for the problem,

3) Proposed an 8 - completive deterministic algorithm for the problem, which contrasts to the result for the online maximization knapsack problem that no online algorithm has a bounded competitive ratio.

Grosan et al. (2003) developed a new evolutionary algorithm for the multiobjective 0/1 knapsack problem. Their algorithm used an E-dominance relation for direct comparison of two solutions and their experimental results show that the new proposed algorithm out performs the existing evolutionary approaches to this problem. Fidanova (2005) in his work on heuristics for multiple knapsack problems compared four types of heuristics, statics and dynamic for A C O algorithms to solve multiple knapsack problems. He observed using static heuristics result in improved performance. Fricke (2006) worked on example of new facets for the precedence constrained knapsack problem where he considered the polyhedral structure of the problem equally known as the partially ordered knapsack problem. His concept was, given a set of items N along with a partial order, or set of precedence relationships, on the $S \subseteq NXN$ denoted bv А items. precedence relationship $j \in S$ exists if item *i* can be placed in the knapsack only if item j is in the knapsack. He derived a new approach for determining facets of the precedence constraint knapsack PCK polyhedron based on clique inequalities.

Djamnaty and Doostdar (2008) in their paper "A hybrid genetic algorithm for the multidimensional knapsack problem" observed that genetic algorithm is hybridized with a good initial population generated by Danzig algorithm solution of single knapsack problem. They also developed a number of novel penalty functions that can drive infeasible solutions towards feasibility with an incredible speed. They proposed that these penalty functions can be applied to any optimization problem having linear constraints and nonlinear objective functions, such as quadratic assignment problem. Bazgan et al. (2009) worked on implementing an efficient fully polynomial time approximation scheme (FPTAS) for the 0 to 1 multiobjective knapsack problem and proposed a methodology that makes use of very general techniques (such as dominance relations in dynamic programming) and thus may be applicable in the implementation of FPTAS for other problems as well. They showed that by using several complementary dominance relations, and sharing the error appropriately among the phases; they obtain an FPTAS, which is experimentally extremely efficient.

CONTAGIOUS DISTRIBUTION

From the brief overview of the mixed distribution earlier mentioned, it is worth noting that this mixture of distribution can take any form; mixture of two or more continuous distribution or discrete distribution or even both through either multiplicative or additive model. From Equation 3

$$\Pr\left(X \le x = F\left(x = PF_1\left(x\right) + \left(-PF_2\left(x\right)\right)\right)$$
(3)

Where P is a factor used to weigh the relative contribution of each population (Q < P < 1), and F(x) is the composite exceedance probability. $F_1(x)$ and $F_2(x)$ are the component. Escalante-Sandoval (2007) adopted the model and used it in his work on a mixed distribution with Extreme value distribution (EV1) and General extreme value component (GEV) component for analyzing heterogeneous samples as:

$$F(x) = P \exp^{-\exp^{\left(\frac{x-v}{\alpha}\right)}} + \left(-P\right) \exp\left\{-\left[1 - \left(\frac{x-w}{\lambda}\right)\beta\right]^{\frac{1}{\beta}}\right\}$$
(4)

The assumption was that the first and second populations behave as Gumbel distribution (EV1) and (GEV) distributions, respectively.

THE CONTAGIOUS DISTRIBUTION MODEL

Literature has shown that most studies on the static stochastic knapsack problem concentrates on normally distributed rewards (Morton and Wood, 1998; Goel and Indyk, 1999; Sniedovich, 1980; Carraway et al., 1993) because the normality assumption covers a wide range of practical applications and at the same time, makes the static problem more tractable. In this work, we are deviated completely from the use of normal distribution to a mixture of a standard Gamma and Exponential distribution.

We employ the additive model of the contagious distribution as shown in Equation 3.

$$\Pr(X \le x) = F(x) = PF_1(x) + (-PF_2(x))$$

Let $F_1(x)$ be a standard Gamma distribution and $F_2(x)$ be an Exponential distribution. Therefore

$$F(x) = P \frac{X^{n-1} e^{-x/\beta}}{\beta^n \Gamma(\mathbf{q})} + (-P) e^{-\lambda x}$$
(5)

The graphical presentations of our new distribution with different values of $P, \lambda, n, and ranges of x$ are shown in the work.

From the graphs shown (a mixture of Gamma and Exponential distribution), the parameter λ was chosen to

be as small as 1, 2, and 3 for Figures 1 to 3 with the weighing factor *P* being kept as constant (0.2) and the second parameter β was varied as 0.2, 0.5 and 0.8, respectively. It was observed that, although they were all decreasing function graphs, the one with the least value of β (that is, 0.2) with λ being (1 and 2) began as an increasing function graph at $0 \le x \le 0.3$ before it began to decay as *x* increases.

In Figures 4 to 6, the parameter λ was still kept at 1, 2 and 3, while the weighing factor *P* was made constant (0.5) but the parameter β was varied as 0.2, 0.5 and 0.8, respectively. It was observed that when β was 0.2, the graph started as an increasing function to the point where x=0.4 and then began to decrease (almost the form of a normal distribution but skewed to the right), whereas in Figures 5 and 6, the graph with $\lambda = 1$ and $\beta = 0.5$ was almost platykurtic in shape while the rest decayed as *x* increases.

In Figures 7 to 9, the weighing factor P was increased to 0.8 and was kept as constant, while the parameter β was varied at 0.2, 0.5 and 0.8, respectively. The parameter λ was still 1, 2 and 3. It was observed that with high value of P, the graphs were almost of a normal distribution but positively skewed except Figure 8 with $\beta = 0.5$ which decays below zero at x = 1.7 and 1.8, thus the graph tends to negative as $x \ge 1.7$. Figures 10 to 12 were graph with a little increment in the parameter λ (2, 4 and 6) with P being kept as constant (0.2) and the parameter β was varied at 0.2, 0.5 and 0.8. It was observed that the graph were all decreasing function up to the point where $0.5 \le x \le 0.7$ and then decayed simultaneously as x increases. In Figures 13 to 15, λ was still kept at 2, 4 and 6 and the weighing factor P was made constant at 0.5, whereas β was varied at 0.2, 0.5 and 0.8. We observed that in Figure 13 with P = 0.2, graphs began as an increasing function for the smaller values of λ and later at x=0.4 it begins to decay as x increases; but as λ increases, the graph tends to a complete decreasing function without any increase at the beginning. However, Figures 14 and 15 exhibited a decay property as x increases. But in Figure 15 with $\beta = 0.8$, the graph tends to be negative at $1.3 \le x \le 1.6$. Figures 16 to 18 had λ still being kept as 2, 4 and 6, but β was varied at 0.2, 0.5 and 0.8 whereas the weighing factor P was constant (0.8). We observed that Figure 16 with β = 0.2 produces a graph which appears almost as a normal distribution graph but skewed to the right. In Figure 17, the graph with $\lambda = 2$ and 4 were platykurtic



Figure 1. p = 0.2; β = 0.2; $(^{\star}\lambda = ^{0.1;*})$ n = 2; $\Gamma[n] = ^{(n-1)!}$; $f[\lambda_{-}, \beta_{-}, x] = (p^{\star}x^{(n-1)} * Exp[-x/\beta]) / \beta^{n}n^{\star}\Gamma[n] + ((1-p) * \lambda^{\star}Exp[-\lambda^{\star}x])$;





Figure 3. p = 0.2;, β = 0.8; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ β ^n* $\Gamma[n] + ((1-p)*\lambda*Exp[-\lambda*x]);$



Figure 4. p = 0.5; β = 0.2; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);



Figure 5. p = 0.5; β = 0.5; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ $\beta^{n} * \Gamma[n] + ((1-p)*\lambda * Exp[-\lambda * x]);$



Figure 6. p = 0.5; β = 0.8; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ $f[\lambda_{-}, \beta_{-}, x] = (p*x^{(n-1)}*Exp[-x/\beta])/\beta^{n*}\Gamma[n] + ((1-p)*\lambda*Exp[-\lambda*x]);$



Figure 7. p = 0.8; β = 0.2; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f($\lambda_{-}, \beta_{-}, x$]=(p*x^(n-1)*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);





 $f[\lambda_{,\beta_{,x}}] = (p^*x^{(n-1)} * Exp[-x/\beta]) / \beta^n * \Gamma[n] + ((1-p)^*\lambda * Exp[-\lambda^*x]);$



Figure 10. p = 0.2; β = 0.2; $(^{*\lambda = 0.1};^{*})$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{,\beta_{,x}}$] = (p*x^(n-1)*Exp[-x/\beta])/ β ^n* $\Gamma[n]$ + ((1-p)* λ *Exp[- λ *x]);



Figure 11. p = 0.2; β = 0.5; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; . f[$\lambda_{-}, \beta_{-}, x$]=(p*x^(n-1)*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);



Figure 12. p = 0.2; β = 0.8; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f[$\lambda_{-}, \beta_{-}, x$]=(p*x^(n-1)*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);



Figure 13. p = 0.5; β = 0.2; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ $\beta^{n} * \Gamma[n] + ((1-p)*\lambda * Exp[-\lambda * x]);$



and positively skewed, whereas with $\lambda = 6$ it was nearly a decreasing function graph. Figure 18 was a decreasing function graph except the graph with $\lambda = 2$ was platykurtic but rightly skewed.

In Figures 19 to 21, the parameter λ was made as large as 5, 10 and 15, while *P* was made constant (*P*=0.2) and β was varied as 0.2, 0.5 and 0.8. Figure 19 with β = 0.2 exhibited a sharp decrease to the point

x=0.5 and decayed to the point x=1.0 and continued at zero then got terminated at x=1.8; whereas Figure 20 with $\beta = 0.5$ exhibited a rapid decrease between, $0.2 \le x \le 6.0$ but at f(x) = 0.2 and x = 0.5 the graph began to decay slowly as x increases. Figure 21 exhibited the same characteristics with that of Figure 20 except that at x = 0.5 and f(x) = 0.2, the graphs were constant as x increases.



Figure 15. p = 0.5; β = 0.8; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^ (n-1) *Exp[-x/ β]) / $\beta^{n}n^{*}\Gamma[n] + ((1-p)*\lambda^{*}Exp[-\lambda^{*}x]);$



Figure 16. p = 0.8; β = 0.2; $(*\lambda = 0.1; *)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ $\beta^{n}*\Gamma[n] + ((1-p)*\lambda*Exp[-\lambda*x]);$



Figure 17. p = 0.8; β = 0.5; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^ (n-1)*Exp[-x/\beta])/ $\beta^{n}*\Gamma[n] + ((1-p)*\lambda*Exp[-\lambda*x]);$



From Figures 22 to 24, λ was still 5, 10 and 15 and P=0.5, whereas β was varied as 0.2, 0.5 and 0.8. We observed that in Figure 22 with $\beta = 0.2$, the graph was a decreasing function graph which decays gradually as x increases. Figure 23 decreases sharply between $0.2 \le x \le 0.5$ and the one with $\lambda = 10$ and 15 converges as one graph at x = 0.6 and began to decay gradually as x increases. At x = 1.0, the graph with $\lambda = 5$ then converge with the previous two as one graph

and continued decreasing, whereas, Figure 24 exhibited the same characteristics with that of Figure 23 except that they converge at different point; the first one ($\lambda = 10$ and 15) converge at x = 0.7, while $\lambda = 5$ converge with them at x = 1.2 but they decayed to negative at x = 1.4 and continued as x increases.

From Figures 25 to 27, $\lambda = (5, 10 \text{ and } 15)$, respectively and P = 0.8 all through, while β was varied as 0.2, 0.5 and 0.8, respectively. We observed that the graph with





Figure 21. p = 0.2; β = 0.8; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^ (n-1)*Exp[-x/ β])/ β^{n} * $\Gamma[n]$ + ((1-p)* λ *Exp[- λ *x]);



Figure 22. p = 0.5; β = 0.2; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f[$\lambda_{-}, \beta_{-}, x$]=(p*x^(n-1)*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);





 $f[\lambda_{,\beta_{,x}}] = (p^{*}x^{(n-1)} * Exp[-x/\beta]) / \beta^{n} * \Gamma[n] + ((1-p) * \lambda^{*} Exp[-\lambda^{*}x]);$

 $\lambda = 5$ began as an increasing function to the point x = 0.3 and started to decay with the other two. Figures 26 and 27 exhibited the same characteristics by decreasing sharply and converging together as one at x = 0.6 and 0.9 and the later at 0.6 and 1.1. Then, continued as a decreasing function.

In Figure 28 to 30, $\lambda = (2, 4 \text{ and } 6)$ and the weighing parameter P = 0.2, while β was made an integer and was varied as 2, 3 and 4. It was observed that they were all decreasing function graph that decays gradually as x increases. Also, in Figures 31 to 33, $\lambda = (2, 4 \text{ and } 6)$ and

the weighing parameter *P* was made constant as 0.5, while β was varied as 2, 3 and 4. It was observed that they were all decreasing function graphs that decay as *x* increases, except the one with the least value of β (Figure 31) which tends to negative at $0.5 \le x \le 1.0$ and continued to decay as *x* increases.

In Figure 34 to 36, λ was still 2, 4 and 6 and the weighing parameter *P* was increased to 0.8, while β was varied as 2, 3 and 4, respectively. It was observed that they were all decreasing function graphs. But in Figure 34



Figure 25. p = 0.8; β = 0.2; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1) *Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);



Figure 26. P = 0.8; β = 0.5; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f[λ _, β _, x] = (p*x^(n-1)*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);



Figure 27. p = 0.8; β = 0.8; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ β ^n* $\Gamma[n]$ + ((1-p)* λ *Exp[- λ *x]);



Figure 28. p = 0.2; β = 2; $(^{*\lambda=0.1};^{*})$ n = 2; $\Gamma[n]=(n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ β ^n* $\Gamma[n]$ +((1-p)* λ *Exp[- λ *x]);



Figure 29. p = 0.2; β = 3; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f[λ _, β _, x] = (p*x^{(n-1)}*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);



Figure 30. p = 0.2; β = 4; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ $\beta^{n}*\Gamma[n] + ((1-p)*\lambda*Exp[-\lambda*x]);$



Figure 31. p = 0.5; β = 2; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f[$\lambda_{-}, \beta_{-}, x$] = (p*x^(n-1)*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]);



Figure 32. p = 0.5; β =3; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!;$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^ (n-1)*Exp[-x/ β])/ β ^n* $\Gamma[n]$ + ((1-p)* λ *Exp[- λ *x]);



Figure 33. p = 0.5; β = 4; $(*\lambda = 0.1; *)$ n = 2; $\Gamma[n] = (n-1)!$, $f[\lambda_{,\beta_{,x}}] = (p*x^{(n-1)}*Exp[-x/\beta])/\beta^{n}*\Gamma[n] + ((1-p)*\lambda*Exp[-\lambda*x])$.







Figure 35. p = 0.8; β = 3; (* λ = 0.1;*) n = 2; Γ [n]=(n-1)!; f[$\lambda_{-}, \beta_{-}, x$]=(p*x^(n-1)*Exp[-x/\beta])/ β ^n* Γ [n]+((1-p)* λ *Exp[- λ *x]).



Figure 36. p = 0.8; β = 4; $(*\lambda = 0.1;*)$ n = 2; $\Gamma[n] = (n-1)!$ f[$\lambda_{-}, \beta_{-}, x$] = (p*x^ (n-1)*Exp[-x/ β]) / β ^n* $\Gamma[n]$ + ((1-p)* λ *Exp[- λ *x])

and 35, the graphs with $\lambda = 4$ and 6 decreased to negative at x = 0.45 and 0.7, respectively and later increased gradually towards f(x) = 0 as x increases.

PARAMETER ESTIMATION FOR THE MIXED DISTRIBUTION

$$\frac{PX^{n-1}e^{-\frac{x}{\beta}}}{\beta^n \Gamma(n)} + (1-P)\lambda e^{-\lambda x}$$
(6)

By reducing the sample size to two we have:

$$L(\lambda,;x_1,x_2) = \prod_{i=1}^n f(x_i;\lambda) = \prod_{i=1}^2 \left[\frac{P x_i^{n-1} e^{-\frac{x_i}{\beta}}}{\beta^n \Gamma(n)} + \langle \!\!\!\langle -P \rangle \!\!\!\rangle e^{-\lambda x_i} \right]$$
(7)

$$= \left(\frac{[P x_1^{n-1} e^{-\frac{x_1}{\beta}} + (-P) e^{-\lambda x_1}] * [P x_2^{n-1} e^{-\frac{x_2}{\beta}} + (-P) e^{-\lambda x_2}]}{[P^n \Gamma(n)^2]} \right)$$
$$= \frac{\left[P^2 x_1^{n-1} x_2^{n-1} e^{-\frac{(x_1+x_2)}{\beta}} + P(1-P) \lambda x_1^{n-1} e^{-\frac{(x_1+x_2)}{\beta}} + P(-P) x_2^{n-1} e^{-\frac{(\lambda x_1+x_2)}{\beta}} + (-P) \lambda^2 e^{-\lambda (x_1+x_2)}\right]}{[P^n \Gamma(n)^2]}$$

$$=\frac{P^{2}x_{1}^{n-1}x_{2}^{n-1}e^{-\frac{x_{1}+x_{2}}{\beta}} + \lambda P \mathbf{1} - P \bar{x}_{1}^{n-1}x_{2}^{n-1}e^{-x_{1}+x_{2}}\left[\frac{1}{\beta}+\lambda\right] + \mathbf{1} - P^{\frac{2}{2}}\lambda^{2}e^{-\lambda x_{1}+x_{2}}}{\beta^{n} \Gamma(n)^{\frac{2}{2}}}$$
(8)

$$\frac{dI(1)}{d\lambda} = \frac{\left[-\lambda \mathbf{x}_{1} + x_{2} \ \underline{e}^{-x_{1} + x_{2}} \left[\frac{1}{\beta} + \lambda\right] + e^{-x_{1} + x_{2}} \left[\frac{1}{\beta} + \lambda\right]}{\beta^{n} \Gamma(n)^{2}} P \mathbf{I} - P \ \underline{x}_{1}^{n-1} x_{2}^{n-1} - \lambda^{2} \mathbf{x}_{1} + x_{2} \ \underline{e}^{-\lambda x_{1} + x_{2}} + 2\lambda e^{-\lambda x_{1} + x_{2}} \right]}{\beta^{n} \Gamma(n)^{2}} \tag{9}$$

$$= \frac{P(-P) x_1^{n-1} x_2^{n-1} \left[-\lambda (x_1 + x_2)\right]^{-(x_1 + x_2)} \left[\frac{1}{\beta} + \lambda\right]}{p^n \Gamma(n)^2} + \left[\lambda - \lambda^2 (x_1 + x_2)\right]^{-\lambda (x_1 + x_2)} = 0$$

$$\Rightarrow P(-P) x_1^{n-1} x_2^{n-1} \left[-\lambda (x_1 + x_2)\right]^{-(x_1 + x_2)} \left[\frac{1}{\beta} + \lambda\right] + \left[\lambda - \lambda^2 (x_1 + x_2)\right]^{-\lambda (x_1 + x_2)} = 0$$

$$\Rightarrow P \left(-P \underbrace{\mathfrak{Z}_1}^{n-1} x_2^{n-1} \left[-\lambda \underbrace{\mathfrak{K}_1}_1 + x_2 \underbrace{\mathfrak{Z}}^{-\mathfrak{K}_1 + x_2} \left[\frac{1}{\beta} + \lambda \right] \right] = - \left[\lambda - \lambda^2 \underbrace{\mathfrak{K}_1}_1 + x_2 \underbrace{\mathfrak{Z}}^{-\lambda \underbrace{\mathfrak{K}_1}_1 + x_2} \right]$$

From Equation 6 we obtain the partial derivative with respect to $\,\beta\,$



Again, from Equation 6, we obtain the partial derivative with respect to n. But we first of all have to factorize the function with respect to n.

$$=\frac{P^{2}x_{1}^{n-1}x_{2}^{n-1}e^{-\frac{\langle \mathbf{v}_{1}+x_{2}\rangle}{\beta}}}{\beta^{n}\Gamma(n)^{2}}+\frac{\lambda P\langle \mathbf{v}-P\rangle_{1}^{n-1}x_{2}^{n-1}e^{-\langle \mathbf{v}_{1}+x_{2}\rangle}\left[\frac{1}{\beta}+\lambda\right]}{\beta^{n}\Gamma(n)^{2}}+\frac{\langle \mathbf{v}-P\rangle_{2}^{n}\lambda^{2}e^{-\lambda(x_{1}+x_{2})}}{\beta^{n}\Gamma(n)^{2}}$$
(12)

$$=\frac{x_1^{n-1}x_2^{n-1}}{\left[p^n\Gamma(n)\right]^2}\left[P^2e^{-\frac{\langle \mathbf{x}_1+x_2\rangle}{\beta}}+\lambda P\langle \mathbf{x}-P\rangle e^{-\langle \mathbf{x}_1+x_2\left[\frac{1}{\beta}+\lambda\right]}\right]+\frac{\langle \mathbf{x}-P\rangle}{\left[p^n\Gamma(n)\right]^2}\right]$$

$$=\frac{x_{1}^{n}x_{2}^{n}}{x_{1}x_{2}}*\frac{1}{\left[p^{n}\Gamma(n)^{2}\right]}\left[P^{2}e^{-\frac{\left(q_{1}+x_{2}\right)^{2}}{\beta}}+\lambda P(1-P)e^{-\left(q_{1}+x_{2}\left[\frac{1}{\beta}+\lambda\right]\right]}\right]+\frac{\left(-P^{\frac{\alpha}{2}}\lambda^{2}e^{-\lambda\left(q_{1}+x_{2}\right)^{2}}\right)}{\left[p^{n}\Gamma(n)^{2}\right]}$$

$$=\frac{\left(\frac{x_{1}x_{2}}{x_{1}x_{2}}\right)^{n}\left[P^{2}e^{-\frac{\left(q_{1}+x_{2}\right)^{2}}{\beta}}+\lambda P(1-P)e^{-\left(q_{1}+x_{2}\left[\frac{1}{\beta}+\lambda\right]\right]}\right]+\frac{\left(-P^{\frac{\alpha}{2}}\lambda^{2}e^{-\lambda\left(q_{1}+x_{2}\right)^{2}}\right)}{\left[p^{n}\Gamma(n)^{2}\right]}$$

$$=\left(\frac{x_{1}x_{2}}{\beta^{2}}\right)^{n}\left(\frac{1}{x_{1}x_{2}\Gamma(n)^{2}}\right)\left[P^{2}e^{-\frac{\left(q_{1}+x_{2}\right)^{2}}{\beta}}+\lambda P\left(-P^{\frac{\alpha}{2}}e^{-\left(q_{1}+x_{2}\right)^{2}}\left[\frac{1}{\beta^{2n}}\Gamma\left(q^{\frac{\alpha}{2}}\right)\right]+\left(\frac{1}{\beta^{2n}}\Gamma\left(q^{\frac{\alpha}{2}}\right)\right)\left[P^{\frac{\alpha}{2}}e^{-\lambda\left(q_{1}+x_{2}\right)^{2}}\right]$$
(13)

_

At this point, we observe that differentiating with respect to n is very difficult if at all possible.

Proof of the mixture of gamma and exponential distribution as a proper probability density function (PDF)

$$\int_{0}^{\infty} \left[\frac{PX^{n-1}e^{-\frac{x}{\beta}}}{\beta^{n}\Gamma(n)} + (1-P)\lambda e^{-\lambda x} \right] dx$$
(14)

$$= \int_{0}^{\infty} \frac{PX^{n-1}e^{-\frac{x}{\beta}}}{\beta^{n}\Gamma(n)} dx + \int_{0}^{\infty} (1-P)\lambda e^{-\lambda x} dx$$
(15)

$$= \frac{P}{\beta^{n} \Gamma(n)} \int_{0}^{\infty} X^{n-1} e^{-\frac{x}{\beta}} dx + (1-P)\lambda \int_{0}^{\infty} e^{-\lambda x} dx \qquad (16)$$

$$= \frac{P}{\beta^{n} \Gamma(n)} \int_{0}^{\infty} \mathcal{C} u \int_{0}^{\infty-1} e^{-u} \beta du + \langle -P \rangle \int_{0}^{\infty} e^{-\lambda x} dx \qquad (17)$$

$$=\frac{P\beta^{n-1}\beta}{\beta^{n}\Gamma(n)}\int_{0}^{\infty} \mathbf{\Phi} \int_{0}^{n-1} e^{-u} du + \mathbf{\Phi} - P \int_{0}^{\infty} e^{-\lambda x} dx$$
(18)

$$=\frac{P}{\Gamma(n)}\int_{0}^{\infty} \left(\int_{-u}^{\infty-1} e^{-u} du + \left(-P \right) \int_{0}^{\infty} e^{-\lambda x} dx \right)$$
(19)

But recall that $\Gamma(\alpha) = \int_{0}^{\infty} X^{\alpha-1} e^{-x} dx$

$$\therefore \frac{P\Gamma(n)}{\Gamma(n)} + (1-P)\lambda \int_{0}^{\infty} e^{-u} \frac{du}{\lambda}$$
(20)

$$= \frac{P\Gamma(n)}{\Gamma(n)} + \frac{(1-P)\lambda}{\lambda} \int_{0}^{\infty} e^{-u} du$$
$$= P + (1-P)$$
$$= 1 (proper pdf)$$

To obtain the mean

$$E(X) = \int_{0}^{\infty} x f(x) dx$$
 (21)

$$= \frac{P}{\beta^{n}\Gamma(n)}\int_{0}^{\infty} xx^{n-1}e^{-\frac{x}{\beta}}dx + \int_{0}^{\infty} (1-P)x\lambda e^{-\lambda x}dx$$
(22)

$$= \frac{P}{\beta^{n}\Gamma(n)} \int_{0}^{\infty} x^{n} e^{-\frac{x}{\beta}} dx + (1-P) \int_{0}^{\infty} x \lambda e^{-\lambda x} dx$$
(23)

$$=\frac{P}{\beta^{n}\Gamma(n)}\int_{0}^{\infty} \mathcal{G}u \mathcal{F}e^{-u}\beta du + \langle -P \rangle \int_{0}^{\infty} xe^{-\lambda x} dx \qquad (24)$$

$$=\frac{P\beta^{n}\beta}{\beta^{n}\Gamma(n)}\int_{0}^{\infty} \mathbf{\Phi} e^{-u}du + \mathbf{\Phi} - P \int_{0}^{\infty} xe^{-\lambda x}dx$$
(25)

$$= \frac{P\beta\Gamma(n+1)}{\Gamma(n)} + (1-P)\lambda \int_{0}^{\infty} (\frac{u}{\lambda})e^{-u} \frac{du}{\lambda}$$
(26)

$$=\frac{P\beta\Gamma(n+1)}{\Gamma(n)}+\frac{(1-P)\lambda}{\lambda^2}\int_0^\infty ue^{-u}du$$
(27)

$$= \frac{P\beta n\Gamma(n)}{\Gamma(n)} + \frac{(1-P)}{\lambda}$$
(28)

$$E(X) = \beta nP + \frac{(1-P)}{\lambda}$$
(29)

To obtain the variance

$$Var(x) = E[x^{2}] - [E(x)]^{2}$$
 (30)

but
$$E[x^2] = \int_0^\infty x^2 f(x) dx$$

= $\frac{P}{\beta^n \Gamma(n)} \int_0^\infty x^2 X^{n-1} e^{-\frac{x}{\beta}} dx + (1-P)\lambda \int_0^\infty x^2 e^{-\lambda x} dx$ (31)

$$= \frac{P}{\beta^{n} \Gamma(n)} \int_{0}^{\infty} \mathbf{\mathcal{G}} u \mathcal{I}^{n+1} e^{-u} \beta du + (1-P) \lambda \int_{0}^{\infty} x^{2} e^{-\lambda x} dx \qquad (32)$$

$$=\frac{P\beta^{n+1}\beta}{\beta^{n}\Gamma(n)}\int_{0}^{\infty} \left(u \right)^{n+1} e^{-u} du + (1-P)\lambda \int_{0}^{\infty} x^{2} e^{-\lambda x} dx$$
(33)

$$= \frac{P\beta^{2}\Gamma(n+2)}{\Gamma(n)} + (1-P)\lambda_{0}^{\infty}\left(\frac{u}{\lambda}\right)^{2}e^{-u} du/\lambda$$
(34)

$$=\frac{P\beta^{2}\Gamma(n+2)}{\Gamma(n)}+\frac{(1-P)\lambda}{\lambda^{3}}\int_{0}^{\infty}u^{2}e^{-u}du$$
(35)

$$= \frac{P\beta^2\Gamma(n+2)}{\Gamma(n)} + \frac{2(1-P)\lambda}{\lambda^3}$$
(36)

$$=\frac{P\beta^{2}(n+1)n\Gamma(n)}{\Gamma(n)} + \frac{2(1-P)}{\lambda^{2}}$$
(37)

:.
$$E[x^2] = np\beta^2(n+1) + \frac{2(1-P)}{\lambda^2}$$
 (38)

and

$$Var(x) = np \beta^{2}(n+1) + \frac{2(1-P)}{\lambda^{2}} - \left[\beta nP + \frac{(1-P)}{\lambda}\right]^{2}$$
(39)

$$= nP\beta^{2} (+1) + \frac{2(-P)}{\lambda^{2}} (40)$$

$$= nP\beta^{2}(n+1) - (\beta nP)^{2} + \frac{2\beta nP(1-P)}{\lambda} + \frac{2(1-P)}{\lambda^{2}} - \left(\frac{1-P}{\lambda}\right)^{2}$$
(41)

$$= nP\beta^{2} \left(+1 \right) \left(\beta nP \right)^{2} + \frac{\left(-P \right)}{\lambda} \left[\frac{2}{\lambda} + \frac{\left(-P \right)}{\lambda} + 2\beta nP \right]$$
(42)

THE MODEL

To formalize our model, let x_i equal to 1 if item *i* is selected and zero otherwise. Also, for convenience, let R(x) denote our contagious distribution; that is,

$$R(x) = P \frac{X^{n-1} e^{-\frac{x}{\beta}}}{\beta^n \Gamma(n)} + (-P) e^{-\lambda x}$$

We are interested in maximizing the value of the accepted (selected) items given that they do not exceed the capacity of the firm. In an effort to maximize this value, we are at the same time considering the lost of goodwill by those costumers whose items constitute an overflow (exceeded capacity). If k is the penalty cost per unit of the overflow item, then we have

Maximize
$$\sum_{i=1}^{n} V_i x_i - k \sum_{i=c+1}^{n} (i-C)R(x)$$

Subject to
$$\sum R(x) \le C$$

This can as well be written as:

$$Maximize \sum_{i=1}^{n} V_i x_i - k \sum_{i=c+1}^{n} (i-C)R(x)$$

Subject to
$$\sum P \underbrace{\P^{n-1}e^{-x}}_{\Gamma(n)} (1-P)\lambda e^{-\lambda x} \leq C$$

Where V_i is the profit for the ith selected item. *C* is the capacity of the mill (firm).

Conclusion

An algebraic stochastic knapsack model was proposed for the item weight following a contagious distribution of a standard Gamma and Exponential distribution using an additive model.

REFERENCES

- Bazgan C, Hugot H, Vanderpooten D (2009). Implementing an efficient fptas for the 0/1 multi-objective knapsack problem. Eur. J. Oper. Res. 198(1):47-56.
- Carraway RI, Schmidt RL, Weatherford LR (1993). An algorithm for maximizing target achievement in the stochastic knapsack problem

with normal returns. Naval Res. Logist. 40:161-173.

- Claro J, Sousa JP (2010). A multiobjective metaheuristic for a mean risk static stochastic knapsack problem. Comput. Optim. Appl. 46(3):427-450.
- Cohn A, Barnhart C (1998). The Stochastic Knapsack Problem with Random Weights: A heuristic approach to robust transportation planning, proceedings of the Triennial symposium on Transportation Analysis (TRISTAN III).
- Dizdar D, Gershkov A, Moldovanu B (2011). Revenue maximization in the dynamic knapsack problem. Theor. Econ. 6:157-184.
- Djamnaty F, Doostdar S (2008). H hybrid genetic algorithm for the multidimensional knapsack problem. Int. J. Contemp. Math. Sci. 3(9):443-456.
- Escalante-Sandoval C (2007). A mixed distribution with EV1 and GEV components for analyzing heterogeneous samples. INGENIERIA Investigacion y Technologia 8(3):123-133.
- Fidanova S (2005). Heuristics for multiple knapsack problem. IADIS international conference on Applied computing. pp 67-77
- Fricke C (2006). Examples of new facets for the precedence constrained knapsack problem. www.austms.org.au/Gazette/2006/July 06/fricke.pdf.
- Fujimoto M, Yamada T (2006). An exact algorithm for the knapsack sharing problems with common items. Eur. J. Oper. Res. 171:693-707.
- Goel A, Indyk P (1999). Stochastic load balancing and related problems. In: Proceedings of the 40th Annual Symposium on Foundations of Computer Science. pp. 579-586.
- Grosan C, Oltean M, Dumitrescu D (2003). A new evolutionary algorithm for the multiobjective 0/1 knapsack problem. Proceedings of the international conference on theory and applications of mathematics and informatics- ICTAMI, Alba Iulia, pp. 233-237.
- Han X, Makino K (2009). Online minimization knapsack problem. Summer L. A symposium. WAOA 2009:182-193.
- Henig MI (1990). "Risk Criteria in the Stochastic Knapsack Problem", Oper. Res. 38:820-825.
- Kleywegt AJ, Shapiro A, Homem-de-Mello T (2002). The sample average approximation method for stochastic discrete optimization. SIAM J. Optim. 12(2):479-502.

- Kosuch S, Lisser A (2008). Stochastic knapsack problems. Technical Report 1505, Universite Paris. Sud. LRI. pp. 1-22.
- Kosuch S, Lisser A (2009). On a two stage stochastic knapsack problem with probabilistic constraint. 8th Cologne Twente workshop on graphs and combinatorial optimization proceedings of the conference, pp. 140-143.
- Martello S, Toth P (1990). Knapsack Problems; Algorithms and Computer Implementations. John Willey and Sons Ltd, New York. P. 1.
- Meyer PL (1965). Introduction Probability and Statistical Applications 2nd Edition, Addison-Wesley Publishing Company, London. pp. 74-75
- Morton DP, Wood RK (1998). On a stochastic knapsack problem and generalizations. Advances in computational and Stochastic Optimization, Logic Programming and Heuristic search, ed. Woodruff, D.L. Kluwer Academic Publishers, Dordrecht, The Netherlands. pp. 149-169.
- Sniedovich M (1980). Preference order stochastic knapsack problems: Methodological issues. J. Oper. Res. Soc. 31:1025-1032.
- Sniedovich M (1981). Some comments on preference order dynamic programming models. J. Math. Anal. Appl. 79:489-501.
- Steinberg E, Parks MS (1979). A preference order Dynamic Program for a Knapsack Problem with Stochastic Reward. J. Oper. Res. Soc. 30:141-147.